9.1 — Representing Inequalities

A L(V\Lﬂllf M@ﬂ&MW{' LY compares linear expressions that may not be equal.

x2-3 means that x is greater than or equal to -3

Inequalities can be expressed verbally, % m‘z hica “¥ , and a(gbtam‘m “y

Inequality Meaning
a>b ais greater than b
a<b aislessthan b
azb a is greater than or equal to b
a<b ais less than or equal to b
azb ais not equalto b

Example 1: The Queen City Exhibition has height requirements for certain rides. To go on one ride, the
Mega Drop, riders must be at least 54" talll.

e Graphically: Use a number line to graph the allowable heights. Choose a scale that is
convenient with the range of values you have chosen. Mark the minimum allowable height on
the line — this is called a boundary point.
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Let x = person’s height in inch'es M-(- Sealt. -HA-ZH wewt
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e Verbally:

Rider’'s must be gW'\'\/lOLV\ o eC‘{/WIQ 0 94 inches to ride the Mega Drop.

A W“V\daNj 1‘30 wt separates the values less than from the values greater than a
specified value. It may or may not be a possible value.

An Open circle shows that
the boundary pointis not
included in this solution

A Closed circle shows that the
boundary pointis included in this
solution




Example 2: Represent each of the following algebraically and verbally.
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-4 3 2 -|.5 5 5.06 6
Algebraically: £ _|& Algebraically: x5 5.25
Verbally: 1S lecc “HMV\ oF Verbally: % 1€ ﬂvepd-cr Hran
qued A =l 5,95

Example 3:
a) Express the mqulg‘ll’r); skl%/vpuo[](;rhg‘(ngr'r;b_g Ilr'\le \_/‘%rbolly and algebraically.
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b) Express the inequality shown on the number line algebraically.
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c) Express the inequality x > -4/7 verbally: _X_§ ﬁw’dﬁ“ +hon ov Q‘j"“d fo F
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Representing Double Inequalities

Example 4: The Kiddie Swing at the QCX has the following height requirement: minimum 32" and
maximum 42". Represent the situation with an inequality. Show it verbally, graphically, and

algebraically.
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Verbally: the. \/\o\qk‘r reopAre Ment \S ok than or egual + 3" and oml%ﬁ

a 2 x L )" ‘
Algebraically: € > 22" omd X £ L‘LQ or 31 RE L/) P 424
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Assignment: Pages 347-349 #s 5,7,9,11,13, 15,17, 19, 23




